Length Contraction: First law of relativity theory 

The only thing got contracted is Nobel Prize Winners Physicists brains

By Professor Joe Nahhas

Abstract: light signal time delays or visual effects can be summarized as follows:

If actual motion is r then time Visual motion is S  where S = r Exp[ỉ ω t] caused by light aberrations visual effects as follows:

Exp [ỉ ω t] = [cosine ω t + ỉ sine ω t]; From S = r Exp [ỉ ω t] we can show that 

It changes to: S = r {√ [1-(v/c) ²] - ỉ (v/c)}

                          = r {√ [1-(v/c) ²] - ỉ (v/c)}

                          = S x + ỉ S y 

Where S x = √ [1- sine² arc tan (v/c)]; And S y = cosine arc tan (v/c)

With v/c << 1 then; Where S x = √ [1- sine² arc tan (v/c)]; And S y = cosine arc tan (v/c)

In absolute value S = r

Along the line of measurement:  S x = r √ [1-(v/c) ²]  

This the equation for length contraction of Lorentz's used in Einstein's theories

But it is the light aberrations visual effects and it is "apparent and not real 

Introduction: Motion in central force fields is given by:

1- Newton's Equation: r (θ) = a (1-ε²)/ (1 + ε cosine θ) 

2- Einstein equation r (θ, v) = [a (1-ε²)/ {1 + ε cosine [θ - φ (v)]}

3-Nahhas' Solution is: r (θ, t) = [a (1-ε²)/ (1 +ε cosine θ)] {Exp [λ(r) + ỉ ω(r)] t}                                   

Nahhas' Solution can be written as: S = r Exp [ỉ ω t]                                     

And with ω t = light aberration angle or ω t = arc tan (v/c) then it will be shown that there is no length contraction but visual effects like an object and its shadow projections.

Introduction: For 350 years Physicists Astrophysicists and Mathematicians missed Kepler's time dependent equation that produced a time dependent Newton's solution and combined classical and quantum mechanics into one Universal Mechanics that explain relativistic effects as the difference between time dependent measurements and time independent measurements of moving objects. In practice relativistic amounts to visual effects of light aberrations along the line of sight of moving objects meaning that all laws of relativity theory can be explained as visual effects or "apparent" motion and laws of Newton's laws of motion with no physical existence. Furthermore, this New Newtonian time dependent equation solution solved all motion puzzles of past 350 years including those puzzles that can not be solved by relativistic mechanics or any said or published mechanics with precisions to make Einstein's space-time confusions of mechanics deleted without loss of subject and the re-writing of Newton's Mechanics and Kepler's quantum mechanics as part of new time dependent Universal Mechanics or Nahhasian Mechanics. Furthermore; it will be shown that not only all motion puzzles in modern mechanics and astronomy are solved by Universal Mechanics but that relativity theory amount to waste taught in classrooms. 

Universal Mechanics                  

All there is in the Universe is objects of mass m moving in space (x, y, z) at a location 

r = r (x, y, z). The state of any object in the Universe can be expressed as the product 

S = m r; State = mass x location: 

P = d S/d t = m (d r/d t) + (dm/d t) r = Total moment 

   = change of location + change of mass

  = m v + m' r; v = speed = d r/d t; m' = mass change rate

F = d P/d t = d²S/dt² = Total force

   = m (d²r/dt²) +2(dm/d t)(d r/d t) + (d²m/dt²)r

   = m γ + 2m'v +m"r; γ = acceleration; m'' = mass acceleration rate

In polar coordinates system

We have r = r r (1) Where r = location and r (1) unit vector in r direction

 And v = r' r (1) + r θ' θ (1) Where v = velocity vector and θ (1) is unit tangent 

And γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1) where γ = acceleration vector

Then 

F = m [(r"-rθ'²) r (1) + (2r'θ' + r θ") θ (1)] + 2m'[r' r (1) + r θ' θ (1)] + (m" r) r (1)

  = [d²(m r)/dt² - (m r)θ'²]r(1) + (1/mr)[d(m²r²θ')/d t]θ(1) = [-GmM/r²]r(1)

Proof:

With r = r [cosine θ î + sin r θ Ĵ] = r r (1)

And r (1) = cosine θ î + sine θ Ĵ 

Then v = d r/d t = r' r (1) + r d[r (1)]/d t

            = r' r (1) + r θ'[- sine θ î + cosine θ Ĵ]

           = r' r (1) + r θ' θ (1)

And θ (1) = -sine θ î +cosine θ Ĵ; r (1) = cosine θ î + sine θ Ĵ

Then d [θ (1)]/d t= θ' [- cosine θ î - sine θ Ĵ= - θ' r (1)  

And d [r (1)]/d t = θ' [-sine θ î + cosine θ Ĵ] = θ' θ (1) 

With γ = d [r' r (1) + r θ' θ (1)] /d t 

And    = r" r (1) + r'd[r (1)]/d t + r' θ' r (1) + r θ" r (1) +r θ'd [θ (1)]/d t

Then γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)

Now d² (m r)/dt² - (m r) θ'² = -GmM/r²   Newton's Gravitational Equation     (1)

And d (m²r²θ')/d t = 0                           Central force law                              (2)

(2): d (m²r²θ')/d t = 0 <=> m²r²θ' = H (0, 0) = constant

                                                     = m² (0, 0) h (0, 0)  

                                                    = m² (0, 0) r² (0, 0) θ'(0, 0); h (0, 0) = [r² (θ, 0)] [θ'(θ, 0)]

                                                    = [m² (θ, 0)] [r² (θ, 0)] [θ'(θ, 0)]

                                                    = [m² (θ, 0)] h (θ, 0); h (θ, 0) = [r² (θ, 0)] [θ'(θ, 0)]

                                                    = [m² (θ, t)] [r² (θ, t)] [θ'(θ, t)] 

                                                    = [m² (θ, 0) m² (0, t)] [r² (θ, 0) r² (0, t)] [θ'(θ, t)] 

Now d (m²r²θ')/d t = 0

Or 2mm'r²θ' + 2m²rr'θ' + m²r²θ" = 0

Dividing by m²r²θ' to get 2(m'/m) + 2(r'/r) + (θ"/θ') = 0

This differential equation has a solution:

A- 2(m'/m) = 2[λ (m) + ì ω (m)]; λ (m) + ì ω (m) = constant complex number; λ (m) and ω (m) are real numbers; then (m'/m) = λ (m) + ì ω (m)  

And dm/m = [λ (m) + ì ω (m)] d t

Integrating both sides 

Then m = m [θ (t = 0), 0) m (0, t) = m (θ, 0) Exp [λ (m) + ì ω (m)] t; Exp = Exponential

And m (0, t) = Exp [λ (m) + ỉ ω (m)] t ---------------------------------- (3)

This Equation (3) is Kepler's time dependent mass equation     

B- 2(r'/r) = 2[λ (r) + ì ω (r)]; λ (r) + ì ω (r) = constant complex number; λ (r) and ω (r)

Are real numbers 

Now r (θ, t) = r (θ, 0) r (0, t) = r (θ, 0) Exp [λ(r) + ì ω(r)] t      

And r (0, t) = Exp [λ(r) + ỉ ω (r)] t ----------------------------------------- (4)

And this Equation (4) is Kepler's time dependent location equation

C- Then θ'(θ, t) = {H(0, 0)/[m²(θ,0) r(θ,0)]}Exp{-2{[λ(m) + λ(r)]t + ì [ω(m) + ω(r)]t}}

And θ'(θ, t) = θ' (θ, 0) Exp {-2{[λ (m) + λ (r)] t + ì [ω (m) + ω (r)] t}} ----- I 

This is angular velocity time dependent equation

And θ'(θ, t) = θ' (θ, 0) θ' (0, t)

Then θ'(0, t) = θ'(0, 0) Exp {-2{[λ (m) + λ(r)] t + ỉ[ω(m) + ω(r)]t}} --------II     

This is Angular velocity time dependent equation

Now 

(1): d² (m r)/dt² - (m r) θ'² = -GmM/r² = -Gm³M/m²r²

      d² (m r)/dt² - (m r) θ'² = -Gm³ (θ, 0) m³ (0, t) M/ (m²r²)     

Let m r =1/u

Then d (m r)/d t = -u'/u² = -(1/u²)(θ')d u/d θ = (- θ'/u²) d u/d θ = -H d u/d θ

And d² (m r)/dt² = -Hθ'd²u/dθ² = - Hu² [d²u/dθ²]

And -Hu² [d²u/dθ²] - (1/u) (Hu²)² = -Gm³ (θ, 0) m³ (0, t) M u²

And [d²u/ dθ²] + u = Gm³ (θ, 0) m³ (0, t) M/H²

At t = 0; m³ (0, 0) = 1

Then [d²u/ dθ²] + u = Gm³ (θ, 0) M/H²

And [d²u/ dθ²] + u = Gm (θ, 0) M/h² (θ, 0)

The solution u = Gm (θ, 0) M/h² (θ, 0) + A cosine θ 

Then m (θ, 0) r (θ, 0) = 1/u = 1/ [Gm (θ, 0) M (θ, 0)/h² (θ, 0) + A cosine θ]

                       = [h²/Gm (θ, 0) M (θ, 0)]/ {1 + [Ah²/ Gm (θ, 0) M (θ, 0)] [cosine θ]}

                       = [h² (θ, 0)/Gm (θ, 0) M (θ, 0)]/ (1 + ε cosine θ)

And m (θ, 0) r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)] m (θ, 0)

Gives r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)]   this is the classical Newton's equation (5)     

And it is the equation of an ellipse {a, b = √ [1 - a²], c = ε a}

We Have m r = m (θ, t) r (θ, t)

                       = m (θ, 0) m (0, t) r (θ, 0) r (0, t) 

And r (θ, t) = r (θ, 0) r (0, t) 

With r (0, t) = Exp [λ(r) + ỉ ω (r)] t                                                                         (4)

And r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)]                                                                  (5) 

Then r = r(θ, t) = [a (1-ε²)/ (1+εcosθ)] {Exp [λ(r) + ỉ ω(r)] t}                                 (6)                                                        

This is the new solution Newton's time dependent solution

Classical Newton's Equation is: r = r (θ) = r (θ, 0) = a (1-ε²)/ (1+εcosθ)               (7)

This is the equation space-time physicists mock and then they introduce the make-believe space- to imaginary time -back to space confusion of physics  

Discussion of Equations (3), (6) and (7)

Equation (3) is a time dependent wave equation and equation (7) is the classical relative standing orbital equation that describes the elliptical motion. Equation (6) gives a complete solution of the two body problems which is a time dependent rotating elliptical motion. It is a particle in a relative elliptical orbit and the orbit is rotating like a wave. This equation combines quantum mechanics and classical mechanics and solves the wave particle duality as follows.   

In general r = (θ, t) = [a (1-ε²)/ (1+εcosθ)] {Exp [λ(r) + ỉ ω(r)] t}                                   

We have r (θ, t) = r (θ, 0) r (0, t) 

With r (0, t) = Exp [λ(r) + ỉ ω (r)] t                                                                         (4)

And r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)]                                                                  (5) 

If (4) = constant, then,

The total particle aspect shows up because the wave like motion is at a constant value

If (5) = constant, then,

The total wave aspect shows up because the particle like orbit is at a constant value     

Now in general:  r = r (θ, t) = [a (1-ε²)/ (1+εcosθ)] {Exp [λ(r) + ỉ ω(r)] t}                                   

Let θ = 0 and ε = 0

Then r (θ, t) = [a (1-ε²)/ (1+εcosθ)] {Exp [λ(r) + ỉ ω(r)] t}    

And             = r (θ, 0) r (0, t) = [a (1-ε²)/ (1+εcosθ)] {Exp [λ(r) + ỉ ω(r)] t} 

What this equation is saying is if we look at an object located at distance r (θ, 0)

Then its visual measurements should register 

As r (θ, t) = [a (1-ε²)/ (1+εcosθ)] {Exp [λ(r) + ỉ ω(r)] t}  

If there is no pushing then 

If an object λ(r) = 0  

And r (θ, t) = [a (1-ε²)/ (1+εcosθ)] Exp [ỉ ω(r)] t  

Taking [a (1-ε²)/ (1+εcosθ)] = as the distance r 

And taking [a (1-ε²)/ (1+εcosθ)] Exp [ỉ ω(r)] t as the measured distance S 

Then

S = r Exp [ỉ ω t] 

Where S = r Exp [ỉ ω t] caused by light aberrations visual effects as follows:

Exp [ỉ ω t] = [cosine ω t + ỉ sine ω t]; From S = r Exp [ỉ ω t] we can show that 

It changes to: S = r {√ [1-(v/c) ²] - ỉ (v/c)}

                          = r {√ [1-(v/c) ²] - ỉ (v/c)}

                          = S x + ỉ S y 

Where S x = r √ [1- sine arc tan (v/c) ²]; And S y = r cosine arc tan (v/c)

With v/c << 1 then; Where S x = √ [1- sine² arc tan (v/c) ]; And S y = cosine arc tan (v/c)

In absolute value S = r

Along the line of measurement:  S x = r √ [1-(v/c) ²] 

This is relativity theory law # 1 or length contraction

This is the equation for length contraction proposed by Lorentz and used by Einstein in his theories. But it is the light aberrations visual effects and it is "apparent" and not real and more like an object and it orthogonal or perpendicular projection shadow  
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